
Chapter 8-2 







kh = - ke 



dE(kh)/dkh = dE(ke)/dke 





d2E(kh)/dkh
2 = - dE2(ke)/dke

2 

Vh = Ve 



electron      -kx hole      -kx 



e = - h 

Je =   Jh 

From Ch. 6,  

drift velocity,   = q  E/m 



from Ch. 7, eq. 52 me   U   Eg  

Eg = 2U 

~100,  Ch. 7, eq. 52 





F = ma 





1/wc   <<   by using a larger B, purer crystal 

 

 wc   >> w 



Aschroft Mermin, Ch. 28 



For a given w, m* varies with H 



Ge Si 

wc 

For a given w, m* varies with H 



me  Eg ,    see Ch. 8, eq. 24, 25  

me 



Note  in general  

m*h  >  m*e 



Eg larger m* larger 

m*  Eg 

m*/(m Eg )   ~0.06 

Z 












